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General Instructions:

SUBJECT SOCIAL SCIENCE ( 087)

Question paper comprises Six Sections
—-A /B, C, D, EandF. There are 37
questions in the question paper. All

guestions arecompulsory.

Section A — From question 1 to 20 are
MCQs of 1 mark each.

Section B — Question no. 21 to 24 are
Very Short Answer Type Questions,
carrying 2 marks each. Answer to
each question should not exceed 40

words.

Section C contains Q.25to Q.29 are
Short Type
carrying 3 marks each. Answer to

Answer Questions,
each question should not exceed 60

words.

Section D — Question no. 30 to 33 are
long answer type questions, carrying
5 marks each. Answer to each
guestion should not exceed 120

words.

Section-E - Questions no from 34 to 36
are case based questions with three

sub questions and are of 4 marks
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Section F — Question no. 37 is YN U _ U8 G| 37 AR Smemid
map based, carrying 5 marks 3 R 3 um F T 5 ofF ¥ =R 3

with two parts, 37a from History . .
374 2) 3idh( 3R YIE W37 &t 3) 3fah(
(2 marks) and 37b from

Geography (3 marks). Y U3 H o8 gHy e T8 R
There is no overall choice in the | YU, & Usil H 3fidRe fdbed UM

guestion paper. However, an internal %Q R %'I ﬁ@r Ul H dpad Uh fameq
choice has been provided in few | &1 gy H7 B

guestions. Only one of the choices in

such questions have to be attempted. e sifafved, wigl ot smawEe &,
TS WUS 3R UY & ATY S-S

i fiu e g

ix. In addition to this, separate
instructions are given with each
section and question, wherever

necessary.

SECTION-A
Q1.What is the position of women in Saudi Arabia?
a) All of these
b) Women are given all the rights
c¢) Women are given equal status with men

d) Women are subjected to many public restrictions
T3al 3R H Afgerm3it hr o Fufa g2
A)T) T Tt
B) Afgem3it &Y @eft 38R few arw &

C) A3 T TET & ST T ol AT STl &

D) AT e TToiieieh Tiasreit & 37efiey &

Q2.Sarva Shiksha Abhiyan is a significant step towards providing education to all
children in the age group:

a) 6-14 years




b) 5-10yea
c) 10-15 years
d) 5-14 years

e) Hd RIGT ITAATT Y 91 & FefY srewil ohl RIGT TeTeT hiet I fe=i H Teh HgeaqoT
FeHE:

a) 6-14 a¥
b)5-10 TTeT

c)10-15 @Tel

aL o

Q3.Sudy the picture and answer the question:that follows:

Which of the following option best describes the given picture?
i) Maldhari herders moving in search of pastures.
ii) Gaddis waiting for shearing to begin.
iii) A Maru Raika genealogist with a group of sheeps and goats.

iv) Gaddi sheep being sheared.

R 1 3¢ A 3R AR e T geT AT IR E:




Aafaf@a & @ i a1 [9sey fev 71w T 1 gad 3=arauia FAaTg?

) AT TRATE TRINET I A H HCH L & |

1) FHcRe YK gled T TATaTT & el |

) 313 3R THRIAT & Ueh HHG & WY Ueh HIE TIHT G2 |

g) T A3 T STeT SheaTleT|

Q4.Arrange the following events in chronological order:
i. Socialists formed the Socialist Revolutionary Party
ii. Conditions in Petrograd were grim

ii. Radicals wanted revolutions to put an end to the kind of governments established in
Europe

iv. Tsar Nicholas Il ruled Russia and its empire
a) ii, iii, i, iv
b) i, ii, iii, iv
¢) v, iii, ii, i
d) iii, i, iv, ii
€)
AT Tre3it T hIeTeIsh A het 7 T EU i




i) HATSTATICE o Ao Rateg ey arél s=rg

ii) UATeTe A feufaar areiy o

iii) sheexaedT Argd & o Shifaam U 7 TS TR I HATCT X &

iv). ST Tolehleld iadi o &F 3R 38 AIHSY YT ATHST fehdm
a) i, i, i, iv
b) i, ii, iii, iv
c) v, iii, ii, i
d) iii, i, v, ii
Q5.1dentify the community with the help of given hints:

They spent their winter in the low hills of Siwalik range, grazing their flocks in scrub
forests. By April, they moved north and spent the summer in Lahul and Spiti. When the
snow melted and the high passes were clear, many of them moved on to the higher
mountain meadows.

a) Dhangars
b) Gaddi
c) Massai

d) Raikas

feT aTT FHehdll T TG & HHET T TgeleT

ﬁﬁ%ﬁaﬁa@rﬁmﬁw@ﬁﬁa@ﬁ%dmﬁﬁmsﬁaﬁwﬁym
|eAT fIcTS | 3rdter T, I 3w BT 3 T ¢ 3R AHAT Hr oger AR Thfey 3 foraram| s th
reelt 31K 39 g T1% 81 91T, af 394 & s 39 YgIe! g1 & Al & Iof T

a) eI b) ITeEr

C) HETS d) YT

Q6.Which party has ruled Zimbabwe since its independence and who is its ruler?

a) ZANU-PF, Robert Mugabe




b) Zimbabwe Party, P Johnson

¢) Zimbabwe Freedom Party, Nelson Mandela

d)ZANU-PF, Kenneth Kaunda

ST Y TSI & a1 & forg ardl & et foham & 31N sHaT emaeh hleT &7

a) STe]-du, U HIMTS

c) [SresTed WhIse Urel, Aoyt H#saT

Q7 Match the following:

b) fSeared grdf, Ot St
d) SATe]-4TUh, et shisT

List I

List 1l

(@) No freedom of religion

(i) Guantanamo Bay

(b) 600 people were put in a prison

(if) New York

(c) 11 September 2001attack

(iii) Kosovo

(d) Massacre carried out by the country’s army

(iv) Saudi Arabia

a) (a) - (i), (b) - (iv), (c) - (ii), (d) - (iii)
b) () - (iv), (b) - (), (c) - (ii), (d) - (iii)
¢) (a) - (iv), (b) - (ii), (c) - (i), (d) - (iii)
d) (@) - (iii), (b) - (i), (c) - (ii), (d) - (iv)

List |

List 11

(T) &3 T TTAAAT T8

(i) FATATIAT &

(&) 600 SATITT T Th STl

(ii) =ZATeh 3 1@ 317 AT

(c) BHIT 12001 AT 11

(iii) sramar

(d) 21 T AT GaRT fohdT 31T ATHER

(iv) 93¢ 3R

a) (a) - (i), (b) - (iv), (c) - (ii), (d) - (iii)
b) (@) - (iv), (b) - (i), (c) - (i), (d) - (iii)




c) () - (iv), (b) - (ii), (c) - (i), (d) - (iii)

d) (a) - (iii), (b) - (i), (c) - (i), (d) - (iv)

Q8.Identify the incorrect option from below:
A) Bugyal means a dry forested area below the foothills of Garhwal and Kumaun.
B) Kharif means the autumn crop, usually harvested between September and October.
C) Rabi means the spring crop, usually harvested after March.

D) Stubble means the lower ends of grain stalks left in the ground after harvesting

A f&U 31T fAshedl & @ ITold [dehed T gl

A) FIITS &1 Y § TTGarel 3ﬂTgvH|§= ohT TTGET oh =Tl Teh Sk T &1 |

B) THI% &I Hcleldl IRE F T B &, [ AR ) AT 3R 3reFgsR & o shrer
ST &

C) T&it o1 31 T ] hl HE &, ST AR I AT o STe; h1el Sireit g
D) 38 &1 Y § hels o d1G STHT H BIS T 37ellel o S5l & foreiel [

Q9. Judges of the Supreme Court and High court are appointed by the_ .
i. Prime Minister
ii. President
iii. Vice President

iv. Law Minister

Fafed ~ AT AR 3T w2y & IR 61 fAg i fhaeh eary & S 82

i) eIt HAY i) Iregafa
iii) 39 Irsgafa iv) SIelel FHAT

Q10.___is the stock of foodgrains procured by the government through Food Corporation of India.
A )Government stock
B) Grain stock
C) Food stock

D) Buffer stock




R e 4T & ATETH  THR GaRT WIS AT WIeHTew H HSK ¢
A) TIHRT Tih
B)37ATST T SR
C)WIey HESR

D) I ¥l

Q11.Match the Following:

List | List 11

(a) Dietrich Brandis (1) Revolutionary of Java

(b) George Yule (ii) First Inspector General of Forest in India

(c) Surantiko Samin (ii1) British Administrators

(d) Dirk van Hogendo (iv) United East India Company official in
Java

@) - (ii), (b) - (iv), (c) - (iii), (d) - (1)

b) (a) - (ii), (b) - (iii), () - (i), (d) - (iv)
¢) (a) - (iii), (b) - (i), (c) - (iv), (d) - (1)
d) (@) - (i), (b) - (ii), (c) - (iv), (d) - (iii)
[GESICITCECANE I

List | List 11

(V) STafe sifsq AgTiadiats (i) AT & FifRT

Ug & del ol Silot (S (i) ARG H

(&) FRifcrnT T (iii) Tofeer wemaes

gl daf 35 (31) (iv) STTaT H IeAl$es S Sf3AT Sl &
31fASRY




(@) - (ii), (b) - (iv), (c) - (iii), (d) - (1)
b) () - (i), (b) - (iii), () - (i), (d) - (iv)
¢) (a) - (iii), (b) - (i), (c) - (iv), (d) - (1)
d) (a) - (i), (b) - (i), (c) - (iv), (d) - (iii)

Q12. Assertion (A): In Mexico, every election was won by PRI.
Reason (R): PRI managed to win every election mainly through fair means.
I) Both A and R are true and R is the correct explanation of A.
ii)Both A and R are true but R is not the correct explanation of A.
1i)A is true but R is false.

iv) A is false but R is true.

araT (T): AfFEeh! 7, g YoATd WIR3ATS SarT Sl 31T 7|

HROT (R) : TARIAT T FEAT &Y IoATd HET &9  fsqey AregAt @ Sl # Thel
Wl

i) A 3R R TcT § 3R, A Hr g carear gl
i) A 31 R &1 T € fereT R, A & T sarear g &
iii) T ET & ifhet 3R 33T

V) A 3T R WRed RAT B

Q13.The region that renewed every year is ideal for intensive agriculture
i) Kankar
i)  Bhabar
iii) Khadar
iv)  Terai

Q14. Read the given table that shows some important features of PDS in India. Read the data and
select the appropriate optionfrom the following.




Name of | Year of Coverage Latest Issue Price
Scheme introduction target Volume (Rs per kg.)

group

Wheat: 2.34

Up to 1992 Universal Rice: 2.89

Wheat: 2.00

Poorest of the | 35 kg of | Rice: 3.00

poor foodgrains

Indigent

senior
10 kg of

foodgrains

citizens

National Priority 5 kg per | Wheat: 2.00
Food households person per
Security
Act

(NFSA) Rice: 3.00
Coarse grains:

1.00

Which scheme targeted the poorest of the poor?
a) AAY
b) APS
c) NFSA

d)PDS

&Y 91 ATTelehl Y UG ST 7R H UISIUd T o HecaquT TaITI3it i giiel gl
seT oY 96 3R fe=ifafad & & 3uged fashed 1 a3 #X|




ferdr Tratet o TIsT A Had IR0 oAl oAfeTd fehar?

T) TUdTS




Q15. Read the following data on Estimates of Poverty in India and select the appropriate option

from the following

Number of poor (in millions)

UR
BA
N

329 75

326 81

278 76

217 53

Find the decreased number of total poor (in million) from 1993-94 - 2011-12.

a) 49 b) 134 c)3 d) 124

R 7 I & 3eTATAT IR oAl Ser aht u¢ 3R 3ugerd fsred & age a3 o

T




A

75

326 81

278 76

217 bS

1993-94 - 2011-12 ﬂgﬁraﬂa’fﬁaﬁg‘éﬁwﬁﬁmﬁ)mw

a) 4 b) 134 c)3




Q16. Find the odd one out from the following options
a. Poultry, Fishing, Forestry, Mining

. Insurance, Tutors, Trade, Transport

. Mass media, Healthcare/hospitals, Public health, Pharmacy

. Builders, Dress makers, Bankers, Schools
a) Option (A) b) Option (B)
¢)Option (C) d) Option (D)
fAraAfaf@d [Asedr # & fawA 1 gar s

a) Glec, AT UTele, dlfeiehl, Gelel

NEIGIRRGERIE ERCECED)

c) AT HSAT, TeUHT/ 3TN, TSt fereh TATELY, BT

d) foresd, 38 AT, da, Fhet

a) Option (A) b)Option (B)
¢ ) Option (C) d)Option (D)

Q17. Fill in the blanks

River Basin Area

Tapi Basin Madhya Pradesh, Gujarat and Maharashtra.

Kaveri Basin

a) Rajasthan, Gujarat, Maharashtra
b) Karnataka, Kerala and Tamil Nadu
c) Maharashtra, Karnataka and Andhra Pradesh

d) Chhattisgarh, Jharkhand, and Odisha




CI )

HEY Y, ISR 3R HGRTSE |

a) TSTEAT, T, AGRISE

b) eheticeh, ahiet 3R AT

C) HBRISE, SheATeeh 31T 37T yeer

d) BTG, RWS 3R 3

Q 18.In 1774, Louis XVI of the Bourbon family of kings ascended the throne of France. He was
20 years old and married to the Austrian princess. Upon his accession, the new king found an
empty treasury. Long years of war had drained the financial resources of France. Added to this
was the cost of maintaining an extravagant court at the immense palace of Versailles. Whom did
Louis XVI get married to?

A) Queen Elizabeth

B) Marie Antoinette

C) None of these

D) Olympe de Gouges
17748, T3 o IRl TRAR & of$ AIlgd o i & HgTHeT I TGS I | a8 20 Frel T
A7 3R 38 AT T TAHANT & AET 1 Y| 379 T & T, AT TSl H Teh

QTel GSITAT THelT | S a8 o Je&T o hid & e Farerii ol @ed T fear ar| 58 adg

& AT FEeT 7 Teh THTURUT IR FY FATT I 1 ofrered off enfier off| S Arergd &




faare forarer g3m am

U) AERI TTooTaYy
o) A vee
) 1A & I T
E)RICEEE K]
Q19. The of a person helps to realise his/her potential and the ability to fight illness.

A) Earnings B) Salary

C) Education D) Health

Ueh Ifard FT &THAT 3R NAR T TS ST 877 T T TgHTH aaHeE aldl o
T) HHAS ah adeT

o) ferer &) Tarey

Q20. Identify the correct statements about Railways
a. The spread of railways in the 1850s created a new demand.
b. Railways were essential for colonial trade and for the movement of imperial troops.
c. To run locomotives, only diesel was needed as fuel.
d. To lay railway lines sleepers were essential to hold the tracks together.
a) Only A
b) Cand D
c)A,Band D

dBandC

I7d & IR H TEY AT Sl TgaTel i

A) 1850 & &2 H {oId & YOR o Teh oA AT Uer H|




B) 3iaferafes eamaR 3R Amar ATAeh! T TaTaiar & folv Yoid 3maed |

C)eNRIAIET I TelTed & FoIT S8l & &I H Shael Safel I HTTLIHAT gict 2|

D) Yold 8T TaSTel o TolT TeRAT hl Teh AT WA o [T FelluX 3Ta2T |

Section B

Q21. 'The eighteenth century France witnessed the emergence of the middle class'. Who were they
and what were their ideas?

mﬁaaasmﬁmmaﬁwmgmw 3 pieT I 31 37 TR a7 A?

Q22. Pakistan under General Pervez Musharaff was a democratic country or non democratic. Give
reasons.

SToeT IRAST HIRW o 7o UTTohEcTel Ueh eliehcliTeh &2 AT AT IR eliehcliiAen | HROT S|
Q23. What is the role of education in the formation of Human Capital?
AT Goit & TAHATOT 3 TU&TT 2T T S7fdenT &7

OR

What is mid day meal schemes? Explain.

HEITEST HNSTeT AT T &2 JHSTT
Q24. What is the importance of electoral competition ?
AT FITANINAT T 4T Heged &2
Section C
Q25.1n spite of abundant rainfall, India is a water-thirsty land. Why is it s0?
SR AT & a1 & Sds]G, SR UTeil T CATAT Ger g | Vet g2
OR

"There is a great variation in the amount and type of precipitation in India. "Justify the statement.

"R H IYOT Y AT 3T ThR # g fAetar g1 s HYT H giee |

Q26. Assam has moderate population density. Give reasons.

3TH H ACYH FA9EAT gl g | HROTS|

Q27. Do you believe that green revolution has made India self-sufficient in food grains? How?

T 37T HTeAd & [ BIRd hiTdd ol HRA I WIGATool H HTcHTAIR TolT 1GAT 5?2 hel?




Q28.How does electoral competition help the political parties and leaders to win the elections?

AT FTTETT TeTatticteh Gell 3R AT T AT Sl H - H8 Heg el o7

Q29 .What are the limitations of a coalition Government

METUT TIHI T FA1 AT gy 87

Section D

Q30. How was the bad condition of women responsible for Russian revolution?
&2 shifl o fore AAfgemait &t g8 FPufd fha yehr SRRl 24

OR

Write a short note on Stalin’s collectivization program.
TeTfolet & ATAfRhIRI0T SHishA W Ueh wiared fevqol faf@m|
Q31.Write down the features of Montane forests of India.

R & JddIT Jail T TAATATT faf@u|

OR

In a mountainous area, there is a change in natural vegetation due to a decrease in
temperature. Justify by givingexamples from different zones.

T &1 H ATYATH H HHAT & HROT iehicieh deieafal # gRact giar ¢ | faffie=r &t & 3emeor
e iSE hITTT |

Q32. What are the non-farm production activities taking place in your region? Make a short list.
39k &1 H IR-H ScUTesT IMTTATEAT AT &1 TET 572 Teh BIE T S=A131T |

OR

What is the aim of production? State any four requirements needed for the production of goods and
Services.

3cUTea T 3E0RT FT &2 aEI31 3R AaT31T o 3cuTet o foIT 3Taege fohegl TR Taegehcait
T

3eord HIfAT|
Q33.What is a Constitution? Explain the role of a Constitution in a country.
Teh AT T &2 Tohell &2 7 HiAeTeT & $1fHepT <l e S|

OR




Explain five major factors which contributed to the framing of our Constitution.

el S SRehl T ATEAT Y [Segiel gAR GG & fHAOT & FerereT feam

Section E

Q.34 Read the text carefully and answers the questions:

Good German’ children were subjected to a process of Nazi schooling, a prolonged period of
ideological training. School textbooks were rewritten. Racial science was introduced to justify Nazi
ideas of race. Stereotypes about Jews were popularized even through maths classes. Children were
taught to be loyal and submissive, hate Jews, and worship Hitler. Even the function of sports was to
nurture a spirit of violence and aggression among children. Hitler believed thatboxing could make
children iron-hearted, strong and masculine.

i. Why did Hitler focus on controlling the children and youth?

ii. Name the organizations formed to infuse the spirit of National Socialism
among the German children andyouth.

iii. What were the peculiar features of the Nazi worldview?

16 ol €11 H Ue 3R 92&T & 3aX ¢

3T ST ‘STl T ATl Teholl T1GTT ST Teh GshdT o et feoham aTam T, Sit a=imien TiRI&ToT hr
Teh oIl 37y | Tehol T ATaTIEART T ot & T aT| 7EeT o ATell [aaRT T TeT Se1 &
fOIT TEey fartret Sy &3 Y 915 2| 0T S et & Areda @ off Fgfedt & ar A wfear
MR & 31| I<al &l ghIER IR TATHRY g, ?Jiﬁ‘éfr?r AP el 3R el gal
AT FAWRT ST AT| TGT deh o Wl T w7 st 7 Far 30T 3er1dHehdr H A1gar &1
IOT AT AT | fRTER 1 AT AT fo Siferaer i #f dig-gad, Aotgd AR AT a1 Fohell ¢ |

)fgcer o st 3R ar3it & fAg T el o e 4t feam?

ii) STt Sel 3R Jamsit & TSET FATSdle T HIAT S & foav aifed
IS o A faf@T|

iii) SISt faeaefoe & faferse faQiware &t o4

Q35 Read the text carefully and answer the questions:

The Indian landmass has a central location between East and West Asia. India is a
southward extension of the Asian continent. The trans-Indian Ocean routes, which
connect the countries of Europe in the West and the countries of East Asia, provide a
strategic central location to India. The Deccan Peninsula protrudes into the Indian Ocean,

thus helping India to establish close contact with West Asia, Africa, and Europe from the




western coast and with Southeast and East Asia from the eastern coast. No other country
has a long coastline on the Indian Ocean as India has and indeed, it is India’s eminent
position in the Indian Ocean, which justifies the naming of an Ocean after it. Since the
opening of the Suez Canal in 1869, India’s distance from Europe has been reduced by
7000 km. India’s contacts with the World have continued through ages but her
relationships through the land routes are much older than her maritime contacts. The
various passes across the mountains in the north have provided passages to the ancient
travellers, while the oceans restricted such interaction for a long time. These routes have

contributed to the exchange of ideas and commodities sinceancient times.

i. When did the Suez Canal first open? How has it helped India?

ii. State any two reasons that make India's strategic location at the head of the Indian
Ocean so important.

iii Which peninsula helps India to establish easy contact with West Asia, East Africa,
and Europe from the Western coast?

TS i €T | U 3T 9T oh 3e) &R #8797 T I 3R qfRers TR & o< Teh
AT TUTT | 9RT TRIATS AgTedd 7 gfavrad faedR 1 gia-g JgrameR &, st
afe# # U9 & g2t 3R qdf ofar & e &1 Sisd €, AR # U s Har
TATA Gl A §| GFhel TACAT e HETHIR & thell g3 8, 56 YR AR I
afResr de & afRas iR, 3rhierr 3R Z09 & |re 3T gdf e @ afaror qd ik gdf
TTRrAT & AT foAshe T9h T Fel H A Hdl ¢l fordlt 31 ger Fr fEg Agramr
TR Sclell o6l dc XWT o181 & oideil TR & U1 & 3R aredd H, fgg AganR & I8 $Rd
&1 gfaftsa fEufa g, it 38 a1 Teh AGIANR & ATHEIUT Sl el g0l gl 1869 H
TSl A< o Golal o d1e & JUT F $R T gl 7000 fohelt a1 g1 18 81 e & @y
HR & T N § el 3T T8 & olfehe] ToT AW & ATETH § 3HS Haer 3Hd FHGT
HIh! T ool H Igd R & | 3R Te18T o6 IR faffiet &3F 1 yrelier anar sr Ay
geTeT fohar g, STafeh AGARRI & 30 g I SIddid l od HT doh JTaarad e T
&1 g AT & reilet hrel § 8Y faaRT 3R ae3it  JTeTet-Terel & ATere fer &

i) TIST 76T GATUH el GolI? SHoA HRA T fohdl TR Hee T 87

ii) fee FGTATIR & T I R T TuTsHfleh FEAITeY hl SetT HecaqoT Seilel arel fehegl
&l ST T Sool@  HITSTT|

iii lel T YRICAT R @l qiRaHr de & afvusd ik, gdf 3nher 3R 319 & ary
3T T TATAT el H HEe hidl 87

Q36Read the text carefully and answer the questions:




Poverty in India also has another aspect or dimension. The proportion of poor people is not the
same in every state. Although state-level poverty has witnessed a secular decline from the levels
of the early seventies, the success rate of reducing poverty varies from state to state. Recent
estimates show while all India Head Count Ratio (HCR) was 21.9 percent in 2011-12 states like
Madhya Pradesh, Assam, Uttar Pradesh, Bihar and Odisha had above all India poverty level.
Bihar and Odisha continue to be the two poorest states with poverty ratios of 33.7 and 32.6
percent respectively. Along with rural poverty, urban poverty is also high in Odisha, Madhya
Pradesh, Bihar, and Uttar Pradesh. In comparison, there has been a significant decline in poverty
in Kerala, Maharashtra, Andhra Pradesh, Tamil Nadu, Gujarat and West Bengal. States like
Punjab and Haryana have traditionally succeeded in reducing poverty with the help of high
agricultural growth rates. Kerala has focused more on human resource development. In West
Bengal, land reform measures have helped in reducing poverty. In Andhra Pradesh and Tamil

Nadu, the public distribution of food grains could have been responsible for the improvement.

i. What state has the highest rate of poverty among Bihar, Odisha, Punjab, and
Assam?

ii. Is it accurate to say that Kerala has eradicated poverty through the
distribution of food at highly subsidizedrates?

iii. In which Indian states is poverty most prevalent?

16 &l €11 & e 3R 9&AT & 3aX ;

AR H IR AT Teh GIRT Tge] AT AT 3 8 &X s A IR AT T 3HeJTd FATA 6T &
gTelifeh HeR o G2reh T BT & T’ § Tod FR I IR & Ueh gl forqdet fTRrae &l a1$ g,
IS T A FIaA T I &I ITel3T-37e19T AT H 3TET-3713T & §Tel & oA Il & oh
2011-12 # 3iTeT 33T 88 F13e IRAT (HCR) 21.9 TR T, FET WeQl, 31TH, 39T 92T, g
3R 33 S Tl 7 IR F TR AT ARGT TR T I A1| SR 3R 3nf3er sweaern:
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feRoT guR & forw forFAeR g1 Hevar |

i) TR, 3nfeem, gane 3R 3| & forg T & I 7 &3 I 31f0eh &2

ii) AT TG AT TET & Toh ol of 3T RATIAT &7 I HYSTeT o [IaR0T o ATCTH T IS i
Rer fear g




iii) TR & foheT ToAT H IRIT T 318 72
Section F

Q.37 i. Two places A and B have been marked on the given outline map of the world. Identify
then and write their correctnames on the lines drawn near them

A. The place where the slave trade began in the seventeenth century.
B. The central power of the First World War.

ii. On the outline map of India locate and label ANY THREE of the following with suitable
Symbols.

a.Malwa Plateau - Plateau
b.Shivpuri - National Park
c.The Ganges - The Himalayan River Systems

d.Mudumalai - Wild Life Sanctuaries

few It T3 & Y@T AT & & T A 3iR B 3iferd fopu arv &1 ggam=r 3R 39 T8l aA1d
3oToh ITH WY 315 @347 X forar

a)agxmaﬁaaﬁ%mﬁwweyxgmml

b) Sr2r# faRa ger i hary Arferd |

i | 8T & ¥@T AT R oA TaiEd # & foeel diel &l 3ugerd Teait & 3ifehet Hifoiw
3R 35 AR ST

a) HATeTdT &l YN - Yo
b) RITQRY - ISET 3T
¢) I3 - TEATI G JUTTeiT




d) HGHTS - Tog SildeT IHARNTY
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Section A

(d) Women are subjected to many public restrictions
Explanation: Women are subjected to many public restrictions
(a) 6-14 years

Explanation: It aims to provide compulsory and free elementary education to all
children between the age of 6-14 years.

(d) Gaddi sheep being sheared.

Explanation: Gaddi sheep being sheared. By September the Gaddi shepherds come
down from the high meadows (Dhars). On the way down they halt for a while to have
their sheep sheared. The sheep are bathed and cleaned before thewool is cut.

(d) iii, i, v, ii

Explanation: iii. 1815: Radicals wanted revolutions to put an end to the kind of
governments established in Europe

1900: Socialists formed the Socialist Revolutionary Party

iv. 1914: Tsar Nicholas Il ruled Russia and its empire

ii. 1917: Conditions in Petrograd were grim

(b) Gaddi

Explanation: In a different area of the mountains, the Gaddi shepherds of Himachal
Pradesh had a cycle of seasonal movement. They spent their winter in the low hills of
Siwalik range, grazing their flocks in scrub forests. By April theymoved north and
spent the summer in Lahul and Spiti. When the snow melted and the high passes were
clear, many of them moved on to higher mountain meadows.

(a) ZANU-PF, Robert Mugabe

Explanation: ZANU-PF, Robert Mugabe?7. (b) (a) - (iv), (b) - (i), (c) - (i), (d) - (iii)
Explanation: (a) - (iv), (b) - (i), (c) - (ii), (d) - (iii)

(a) Bugyal means a dry forested area below the foothills of Garhwal and Kumaun.

Explanation: Bhabar means a dry forested area below the foothills of Garhwal and
Kumaun.

Bugyals are alpine pasture lands, or meadows, in the Indian state of Uttarakhand,
where they are called "nature’s owngardens".

(b) President

Explanation: The judges of the Supreme Court and High Court are appointed by the
President on the advice of thePrime Minister and in consultation with the Chief
Justice of the Supreme Court.

(d) Buffer stock

Explanation: Buffer Stock is the stock of foodgrains, namely wheat and rice procured
by the government through FoodCorporation of India (FCI).

11. (b) (a) - (ii), (b) - (iii), (c) - (i), (d) - (iv)
Explanation: (a) - (ii), (b) - (iii), (c) - (i), (d) - (iv)
(c) Ais true but R is false.




Explanation: Every election in Mexico was won by PRI in Mexico because PRI
managed to win every election mainly. through unfair means. They spent a lot of
money in campaigning for its candidates and forced people to vote for them. So, the
assertion is right but the reason is incorrect.

(c) Khadar
Explanation: Khadar
(a) AAY

Explanation: AAY was launched in December 2000. Under this scheme one crore of
the poorest among the BPL families covered under the targeted public distribution
system were identified.

15. (b) 134

Explanation: 404 - 270 = 134

(a) Option (a)

Explanation: Poultry, Fishing, Forestry, Mining Because all others are Tertiary Sector
(b) Karnataka, Kerala and Tamil Nadu

Explanation: Karnataka, Kerala and Tamil Nadu

(b) Marie Antoinette

Explanation: Louis XVI get married the Austrian princess Marie Antoinette. She was
the last queen of France before the French Revolution. She was born an archduchess
of Austria and was the penultimate child and youngest daughter of Empress Maria
Theresa and Emperor Francis I.

(d) Health

Explanation: The health of a person helps to realise his/her potential and the ability to
fight illness.

(c) A,Band D
Explanation: C is wrong. To run locomotives, wood was needed as fuel.
Section B

A. The eighteenth century witnessed the emergence of social groups, termed as the
middle class.

B. They earned their wealth through an expanding overseas trade and manufacture of
goods such as woolen silk textiles that were exported or bought by the richer members
of society.

C. In addition to merchants and manufacturers the third estate included professionals
such as lawyers or administrative officials.People of Middle class were educated and
believed that no privilege should be given by birth, rather position of a person in
society should be merit based.

A. Pakistan under General Pervez Musharaff was a non democratic country.

He amended constitution according to his own will and for his personal benefits and
issued ""Legal Framework Order"".

He dismissed the national and provincial assemblies.

Final power was rests with military officers.

The role of education in human capital formation are as follows:

An educated society facilitate better development program than an illiterate one.

Through education, a person has all-round development by which he could master the
knowledge and skill.

It makes a person suitable to perform a nice job and got a respectable salary.
It opens new avenues of opportunities.
Education improves productivity and prosperity and also improve enriched life




experience.
Education increases national income and other cultural richness.

ORMid-day scheme is to provide nutritional food to students during the school time.

This scheme has been implemented to encourage attendance and retention of children
in schools.

It aims at improving the nutritional status of the children.

(1) Regular electoral competition provides incentives to political parties and leaders.
They know that if they raise issues that people want to be raised, their popularity and
chances of victory will increase in the next elections. But if they fail to satisfy the
voters with their work, they will not be able to win again.

(i) If a political party is motivated only by desire to be in power, even then, it will be
forced to serve the people.

Section C

Even though Indian receives abundant rainfall, it is still a thirsty land. This is because
of the following reasons:

Rainfall is not uniform in all the places throughout the country. Some areas have
more rainfall and some receive scanty rainfall.

Due to global warming and the consequent rise in temperature, there is a tendency for
the quick evaporation of water, making the climate dry and hot.

No sufficient measures have been adopted by the government to build water reserves
and make facilities for rainwater harvesting.

The Rapid growth of population, urbanization and changing lifestyle have posed a
serious threat to water security.

Low public consciousness about the overall scarcity and economic value of water
results in its wastage and inefficient use leading to scarcity.

Water conservation policies and water resources projects are implemented
improperly without giving due consideration to optimum utilization and
environmental sustainability.

OR

There are variations not only in the forms and types of precipitation but also in its
amount and the seasonal distribution.

In the upper parts of the Himalayas, precipitation occurs most likely in the form of
snowfall, whereas it rains over the rest of the country.

Parts of the Western coast and North-Eastern India receive over about 400 cm of
rainfall annually e.g. Meghalaya. On the other hand, some regions like Ladakh,
Western Rajasthan, parts of Gujarat and the leeward side of Western Ghats receive
rainfall less than 10 cm annually.

Thus, it can be concluded that there is a great variation in the amount and type of
precipitation in India.

Assam has moderate population density because of following reasons :
Hilly, dissected and rocky nature of the terrain areas.

Chances of infrastructural developments are very less due to hilly areas.
Less fertile soil is also responsible for it.

In the late 1960s, the Green Revolution introduced the Indian farmer to the
cultivation of high-yielding varieties (HYVSs) of seeds. The HYVs (coupled with
chemical fertilisers and pesticides) led to a growth in the productivity of food grains




(especially wheat and rice), thereby helping India attain self-sufficiency in food grains.
Since the advent of the Green Revolution, the country has avoided famine even during
adverse weather conditions.

(i) Regular electoral competitions provide incentives to political parties and leaders.

They know that if they raise issues that people want to be raised, their popularity and
chances of victory will increase in the next elections.

But if they fail to satisfy the voters with their work, they will not be able to win again.

A. The Prime Ministers has to accommodate different groups and factions in his party
as well as alliance partners.

B. He also has to pay heed to the views and positions of coalition’s partners and other
parties, on whose support the survival of the government depends.

C. The agenda and the policies of the government are usually decided as a common
minimum programmes. This includes only those policies which are common to all
coalition partners.

Section D

A. Most of the women were working in small factories.

Women made up about 31% of the factory labour force.

They were paid less wages and were forced to work for long hours.
When they launched an agitation, they were fired at by the police.
OR

Stalin's collectivization program: Stalin believed that the collectivization of
agriculture would help in improving grains supplies in Russia. He began
collectivization in 1929. All peasants were forced to cultivate collective farms kolhoz.
The bulk of land and implements were transferred to the ownership of the collective
farm. Many peasants protested such attempts and destroyed livestock to show their

anger. Collectivization did not bring the desired results in the food supply situation
turned even worse in subsequent years.

A. The decreasing temperature with increasing attitude leads to the corresponding
change in the natural vegetation in mountainous areas.

Such type of natural vegetation belt can be found in tropical tundra region.

The wet temperature type of forests is found in between height of 1000 and 2000
meters.

Oaks and chestnuts trees predominant here.

Trees like pine, deodar, silver fir, spruce and cedar are found in temperate forests
between 1500 and 3000 meters.

These forests cover mostly the southern slopes of Himalayas.
Temperate grasslands are common at higher elevation.
At high altitudes, generally more than 3,600

metres above sea-level, temperate forests and grasslands give way to the Alpine
vegetation.Silver fir, junipers, pines and birches are the common trees of these forests

OR
The following examples justify the given statement:

Wet temperate forests are found between the heights of 1,000 and 2,000 m. Evergreen,
broad-leafed, trees such as spruce and cedar are found here.

Temperate forests containing coniferous trees like pine, deodar, silver fir, spruce, and
cedar are found between the height of 1500m and 3000m above the sea level.

At altitudes, more than 3,600 m above the sea-level, temperate forests and grasslands
give way to the alpine vegetation. Silver fir, junipers, pines, and birches are the
common trees of these forests.




At higher altitudes, mosses and lichens form part of tundra vegetation.

Thus, it can be concluded that in the mountainous area there is a change in natural
vegetation with a decrease in temperature.

The non-farm production activities taking place in our region are:
Dairy farming- It is a common activity of many families in rural areas in our region.

Small scale or cottage industry- Some people are involved in small scale
manufacturing running from their homes like the making of the basket, toys, mats, etc
or in the field like the production of jaggery.

Shopkeeping- A few people are involved as shopkeepers and traders who buy various
general and domestic goods from the wholesalers of the cities and sell them in the
villages.

Vendors- Some people near the bus stand have opened small shops or stalls selling
eatables.

OR

The aim of production is to produce the goods and services we want. This requires
four inputs, which are called factors of production.

These are:Land and other natural resources like water, minerals, forests, etc.The
second factor is labour i.e people for carrying out the work for production activities.
Some work may be done through manual labour and other work may require highly
skilled or educated persons.

The third factor is capital- fixed and working. Items like machinery, building, tools,
land, etc are called fixed capital. They can be used repeatedly for a long time, while
raw material and money in hand are called working capital.

The fourth and one of the most important factor is Human capital which is required
to coordinate all the other factors efficiently,through educational training ,knowledge

etc It is also required to put together all the above inputs

to produce the output, which can either be sold in the market or consumed by the
person producing the output.

A. The constitution of a country is a set of written rules that are accepted by all people
living together in a country.

Constitution is the supreme law that determines the relationship among people living
in a territory and also the relationship between the people and government. As the
supreme law of the country, the constitution determines the rights of citizens, the
powers of the government and how the government should function.

It generates a degree of trust and coordination that is necessary for different kinds of
people to live together.

It specifies how the government will be constituted and who will have power to take
decisions.

It lays down limits on the powers of the government and tells us what the rights of the
citizens are.

It expresses the aspirations of the people about creating a good society.

All countries that have constitutions are not necessarily democratic. But all countries
that are democratic will have constitutions.

OR

Framing of the Constitution for a diverse country like India was not an easy task. The
country was born through a partition on the basis of religious differences which was a
traumatic experience for us.

The major factors which contributed to the framing of our Constitution were:

The people of India were emerging from the status of subjects to that of citizens. They
had become conscious of their rights and privileges.




Our leaders had gained enough confidence to learn from the struggles of other
countries. Many were inspired by the ideals of fraternity, liberty, and equality of the
French Revolution.

They were also influenced by the Parliamentary form of government being practised
in Britain and passing of Bills to make laws, unlike the US.

Social Revolution in Russia also inspired Indians to frame society based on social and
economic equality.

The makers of the Constitution did not simply imitate the Constitution of other
countries, rather they questioned whether these values and ideals suited its citizens or
not.

Section E

I. Hitler was fanatically interested in the youth of the country. He felt that a strong
Nazi society could be established only by teaching children Nazi ideology. This
required control over the child both inside and outside school.

Youth organisations were made responsible for educating German youth in ‘the spirit
of National Socialism’. Ten-year-olds had to enter Jungvolk. At 14, all boys had to join
the Nazi youth organisation - Hitler Youth.

Hitler’s worldview was synonymous with Nazi ideology. Some of its features were:
Racial supremacy, the concept of Lebensraum, the spirit of National Socialism, they
believed in strong leadership.

I. The Suez Canal was opened in 1869. It has reduced the distance between India and
Europe by 7000 km.

Any two points
India is strategically located at the center of the trans-Indian Ocean routes.

India could establish close contact with Southeast and East Asia from the eastern
coast.

India could establish close contact with West Asia, Africa, and Europe from the
western coast. The Deccan Peninsula helps India to establish easy contact with West
Asia, East Africa and Europe from Western coast

i. Bihar is the poorest states with poverty ratios of 33.7.

No, the state of Kerala has used human resource development as a means of reducing
poverty.The proportion of poor people is not the same in every state. Poverty is still
existing in Madhya Pradesh, Assam, Uttar Pradesh, Bihar, and Odisha. Bihar and
Odisha continue to be the two poorest states with poverty ratios of 33.7 and 32.6
percent respectively

37.
i. A. Bordeaux
B. Germany







